2o solutiswa
:.ecfbfc-rv\. 2.4

. C(N\ = S0004+72yv

(o) ovqg cosk fuet: C
Clxy = &2
Y

= S000+2%
_ *®
C(x) = Steo
) > tZ
=) mwﬁﬂ,\d &vﬁ cost : ‘il
-
oy = & 2202
E,(sc) = _S‘Oio
¥
) |M'Lev—?v-c.+

Since T <o £ 1L *'s
the vrate of C.«L»aw\flﬂ fo- o
@5t fumct 5 neq (defmibmn),

That means Clp decreases

ad R\CPC.A.SM, —Bu,t rp e
‘OO\L at

X3 Ao

€l if we produce en

33. p=]9-0.024

Cormpute Elp) & £d whe
elastic |, inelaotic | &4 wni
E(P) = - P_fik’)‘

flp) ) whee %=£(p)
p=A1-02g = Y= $0(7-p%)

E(py = ~BL1%0-5001]"  ro0p®

‘-lS‘o--S'o,:'L - "IS"O-S‘DPZ
Ep) = 2p*_
T=g™
Epy =1 =5 2pP=9-pt
B = —_——
P = ? © \E

ikory 1 B =1 => p=vF
elaotic @ Elp)®) =5 Nz <p
melastic © E(@Y <1 =5 04 ped3

|3,

()
Lin T =lo (FF42) =2

ougl. theruostules
the wndt costy circnf +o ess%ﬁ\mua' b2

(%) Wsaginal  cost !

P =600-0.05% , ©O%x<\Z,000

C(O) = 0.00000Z x>~ 0.03x% 4 40O¥%. + F0,000

(&) Revenue "?Lunc_t .

1200 = pr = (LOD - 0.0S¥)
= 0Dy~ 0.05y*
'P*‘D{-.:{: -Fuu\c.t :
PO = 1K) ~ &)
= | 600 - o.oaiﬂ- [0- W00y, ~ 0.0,
-4 4oo% * §O,000 |

1]

- 2
$00000Z,90> ~ LOZR" +200% - 80,000

C'm = 0-000005‘!&2'"0.0(0)( + Hop
m a-ginol

Rleyy = 606 - 0,1y
Monginal profil .

reveine. |

Pl = ‘.oooooéx.z—.oqx + 200

¢.'(2000) = e addHehal cost 4o
ol o\ PR 200161' Tv
=20y
R (2o00) = rctual revemuwe. frove
sehe. of e 20015t TV
= Yoo
’?'(2000) = aPPVOX:MPtl&u op'ft\_g_
acfual. profit/loss frgun
He sale of He 20015t TV
#9% peolid

(Cl) 3""‘1’"‘ c, e, P @& ﬁ«\-e*fv-'-—‘\'

.

Q.
v

\3?20

LR

pore TVS =

Mt revenunl,
“,.. . oCluars
'?,osl‘; s0 T arovand
J / ¥ =000
20 +

G ‘2 b
themsands of Tvg

- greadsat
+0
%ca&rs gusrovndd
% = oo
Y oS



